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SN RFE
M TUxAA
el ety = (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEFEES
20,0003 x137H*23|x 12 65,760
ogtd=g 25,0002 +535H *23] 26,750
e 3 I 1,782 18,880 AT7,098
101 ©1AH| 9,846 9,618 228
04 JIZtN2Z2XNSE+ 9,846 9.618 228
OgdA= JIZtHZ2 X+ 12| 9,846
@)uFal:] 85,0703 x1H 262 +4Z 8,848
O4li2Es JI2RY= 998
-HBLPE= 8,847,2802 %3.545% 314
-HAIIQAEE= 314,000 %12.81% 4
-=o=3 8,847,280 *4. 5% 39
-1ELE 8,847,280 *1.75% 155
—SHEE 8,847,280 * 1% 89
201 fet= 3| 1,936 2,262 A326
02 324l 1,936 2,262 A326
O EHl =Xl 400,000 *1CH 400
ogolLsE R4
1,599 * 1L*60JH 2+ 163 1,536
HAr2g2el 72,110 63,134 8,976
201 er2&| 62,290 58,624 3,666
01 At2teltl 13,764 14,898 A1,134
OSEAN RogHIESs
330,000 x 122 3,960
OSHA ATALBY AS44E
170,000« 12& 2,040
OSHM )| BNELE
110,000& ~ 12& 1,320
OsSEAN s ZIIB A==
150,00024+18] 150
OSEA HIIEEHLLE
115,500« 128 1,386
O=td4 HIS & FMN2CE L2225
190,000& 122 «90% 2,062
OsSEA SIIEE)| gtz
30,0002 +50H+ 12 1,800
OSEA E=J| &Xtz
22,000 4= 122 1,056
2 35244l 48,526 43,726 4,800
oxMIIe=s 3,000,000& x12& 36,000
ONBI+=R 200,0002! 122 2,400
02| HIAZK S423
5,000 128 60
OSEA A=K 5,020&»2,005m" 10,066
401 Al HIZL 201 9,820 0 9,820




SN 2FE
M TUxAA
el ety = (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 9,820 0 9,820
OSEA 2S48l SgY=SA
9,820,000& 9,820
TR ME 2E X 130,380 135,080 AN4,700
201 fet=2 3| 120,300 125,000 24,700
01 AtR2t2|HI 117,800 123,000 25,200
OFBIXXIHE 2SI (D1EZH])
2,000,000& 2,000
OFUNAZZIY BASE
30,0003 *x17JH m &% 18A[ 2t 103 91,800
OFoXxZ208 wal AXZ(3IMHA)
2,000,0002 *12& 24,000
03 A= 2,500 2,000 500
O=0NAIZZ 08 2H3 X HAlgl =4I
2,500,000& 2,500
301 LELEN S 10,080 10,080
11 dALEEIXIZE S 10,080 10,080
OFUMXIARS! &lolats Al
30,000 »28H « 128 10,080
NS stetE sl ALK 5,784 5,784
301 EtE NS 5,784 5,784
11 #AIAMHIXIZ S 5,784 5,784
O#AIRZ AHI2&(0IZ24I)
5,784,000& 5,784
SXa2Adzgael 15,474 42,680 N27,206
201 2= 15,474 42,680 N27,206
01 At22telt] 2,550 6,120 23,570
Oo=Xga Ro1HHEY=
165,000 x5 825
O=aa ALAE A5Ed+=
165,000 5 825
O=N3Z MIGHAEAL42E
180,000& +5& 900
2 S5=24g4l 12,924 36,560 N23,636
O=Xz2 MAsYa 10,400
OFSPIEei=) 2,000,000&+5& 10,000
Odotees=s 80,0002 5 400
O=Xzl2 A==l
5,020&x502.7m" 2,524
SUIHMSAIE 2l 1,737 34,727 A22,990
201 er23| 11,517 r.7er 3,790
02 S5=2g4l 11,517 7,727 3,790
OZ&e| MHFN0IESEY RA2=H|
5783 +548m’ 317




SN 2FE
M TUxAA
el ety = (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORdel dE=N0IEEY &L=
600,000 * 12 7,200
OSUIMEAIE RAES
100,000 408 4,000
401 AIEHIZ SR OHYI 220 27,000 N26,780
01 Al&HI 220 27,000 N26,780
oot2s717 HEl EA
110,000& *2H 220
BY2IHY(2F3) 3,283,718 3,388,129 A104,411
el 2E 3,078,1%6 3,140,953 N62,757
el E2d| 3,073,934 3,128,930 N\54,996
101 ©1AH| 3,073,934 3,128,930 A\54,996
01 2= 3,036,067 3,035,235 832
oJlzs 2,048,276
O3 (HSH) 266,138
4= 96,030,000& *1H 96,030
5= 85,054,000 x2H 170,108
OJI2g(&SH) 1,782,138
62(458) 4,235,800 * 128 * 122 609,956
-12(1488) 3,216,400& x 148« 12 540,35
-8=2(558) 2,110,800 x12H*12& 303,956
-9=2(3&8) 1,821,500 x 15 122 327,870
od=+¢ 184,268
od2=+g 1,782,138,000& 1/ 12+50%+22] 148,512
Og2+=giits 25,200
-5014 10012t
50,0002 x10E* 122 6,000
-10E=0l& 15012t
60,0002 x2& 122 1,440
-154014f 202012t
80,0002 6~ 12 5,760
-200(a 256=0]8*
100,000 x10E =122 12,000
OdZ2=gx:IHt3 2,400
-2040l4f 25=0|8t
10,0003 x5« 12& 600
25801 & 30,0002 x5~ 122 1,800
Oolesa+< 8,156
S8R (682953)
4,449,500 #4 1%+ 1812 2,190
S8R 6220753)
4,377,100 4. 1%+ 18123 2,14
S8R (621953)
3,943,500 4. 1%+ 12+ 123 1,941




SN BT
o HHSAAH|(2FS)
s lIEE2ghl EEREE
SA - ZE . BR() - HRAR - BES of v G o HIDE2
52U (621732)
3,802,400 4. 1%+ 1E+ 123 1,871
OINHET 4 24,600
ONE+Y 24,600
-t <Xt 40,0003 »23H « 122 11,040
L PNE 30,0002 102+ 122 3,600
=L PNIE 70,0002 +62 * 1224 5,040
-SIoI= Xt 110,000& x 12+ 123 1,320
-JIEE 20,0002 x15F 128 3,600
os+224y 77,200
OS+sd 77,200
JleyEag 11,640
- 55 50,0002 18~ 123 600
== 30,0002 ~8H~ 123 2,880
8201t 20,0002 11+ 122 2,640
JIEFEAY JBOISH,IIAY)
30,0008 <142 * 122 5,040
IISHELY IS (MDA
20,0003 1 * 122 240
DISHELY JB(2EE)
20,0003 18 =128 240
Ol 50,0002 152122 9,000
-SpsaR Y 70,0008 +522x 122 43,680
A= XYLy
70,0003 *11H 122 9,240
-AEIS XIS
30,0003 7 * 12 2,520
—AIRHAE R (9245 2)
1,865, 7002 «5¥x 1 128 1,120
0zY224Y
11,3192 53 +30AI 2+ 123 215,967
OF AT Al 140, 00021562 » 128 94,080
OYEEIHH|
1,782, 138,000 * 1/ 12+60%*23] 178,214
OS2 A (1= HI)
266, 138,000 * 1/ 12x78%+~86%*1/30% 11! 5,455
Ot A (SZH)
1,782,138, 0002 +1/12%86%+1/30+ 11! 46,831
oM 2L4gt
1905160549 0H 19121+ 122 3.7%
ESE= LN 124,380
O4=s 400,000& x1H 128 4,800
O55 250,000 «2F 122 6,000
063 185, 00081224122 26,640
ora 180, 0008 <142 x 122 30,240




2AM: Q&S
M #ReHAH|(QHE)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
08, 9= 175,000 x27 E+12E 56,700
03 SRH(RINHA) 222+ 37,867 34,283 3,584
O E HINREA 2= 37,867
012303 352)
2,082,070~ 1E« 122 24,985
Od A SAMH| 140,000& x 1= 123 1,680
OgESIt| 2,082, 0703 50%* 1 23| 2,083
OuJt2 &l 79,8402 10! 79
O=¢ 8,320
258 104, 1003 x 1+ 123 1,250
OIEAZOIEDEE)
40,0002 x 12 x 122 480
-Hel=g 50,0002 x1& 122 600
—Saoieac(D2)
50,0002 12«12 600
EBDTLY
14,9702 x 1 * 122 »30A1 2+ 5,390
a0l 4,262 12,023 AT, 761
04 HSRESS 4,262 6,523 A2,261
04 SR (RIH)22N BEE=RES S 4,262 3,933 329
O3RH(RIIH) A3RL=
37,867,0002 *4. 5% 1,705
O3RH(RIIAH) =UALESEHS 1,515
(@Faki-—t= 37,867,000 *3.545% 1,343
O RLES
37,867,000 %3. 545%+12.81% 172
OSRA(RINH) 22N NELEHEIRYS
= 1,042
ONELE JI2ARE=
37,867,000 *1.75% 663
O4IHEE JI2RY=
37.,867,000& * 1% 379
Jl23Hl 205,522 247,176 241,654
JI=23Hl 205,522 247,176 AN41,654
201 ger=3| 103,062 119,276 A16,214
01 At 2|l 70,662 83,276 A12,614
OJl2ge=aZH(5%64, 108)
36,700,000 *90% 33,030
o=gHI(01=2HI)
8,000 x50 7L x 122 37,632
02 S3=4gl 32,400 36,000 A3,600
oRER3 32,400
oget 4002 #5,0005* 12 *90% 21,600
Os7I 2,500 4005+ 12 9% 10,800
202 04l 70,800 96,240 N25,440




S 2BE
M #ReHAH|(QHE)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 63,600 89,040 N25,440
OO0t (21EZ4I) 100,000& x53E « 12& 63,600
02 22401H| 7,200 7,200 0
QMO (I1Z=ZH)
200,000 <3+ 122 7,200
203 =4l 23,860 23,860
01 D22 HARFA| 10,500 10,500
OJIEU(SH42) 10,500,000 10,500
02 FRItAA =AY 2,320 2,320 0
OJIEH(100&0I3tH) 40,0002 x58E 2,320
M A2 LRFAI 11,040 11,040 0
OJ|=H 11,040
OMF=XI1H(34K) 5,040
-300lat 400,000 123 4,800
-0 =1t 5,000 x4&* 122 240
OMEsZ(129) 250,000 * 12 3,000
Ot H(12g) 250,000+ 122 3,000
204 MR AH| 7,800 7,800
01 MM SR+ AY| 7,800 7,800
OJIEA(42012E)
400,000& x1E~12& 4,800
OQIEH(GEBERI|2)
100,000 =2 * 12 2,400
OIIEH(6EEXI|2)
50,0008 x 18 x 122 600
Aot & SUEEH 113,316 183,173 A\39,857
= 7,000
Al 106,316
d=2d 29 243t 113,316 183,173 A39,857
= 7,000
Al 106,316
ded dFE & HES 83,007 104,674 N21,667
401 Al HIZ S OHbI 1,792 14,955 A3, 163
01 AlZ2H| 1,792 14,955 A3,163
OAa7 2= 324 2=+
7,000,000& 7,000
OFECIZZE N2 (3L, A 2=)
3,080,000 *1JH 2~ 3,080
OFU42IZ=2e HE==(<HH)
1,022,0002 * 10 2 1,022
O] HHEH FHEYAE HE*
470,000 * 100 2 470
Ot HEEd AL HES
220,000 *10H A 220
402 212t X201 & 71,215 89,719 /18,504




SN 2FE
B 2AUSD BIIA LEMBUE
thel: 329 2% #2435t (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 BI2ERH2 AR 2 (RHRITH ) 71,215 8,719 18,504
oRIAR A2 BRY HPA
23,589, 0002 23,509
ORZBRY N4 (SHYL, ARTH)
9,200,002 17 2 9,200
ONBIRIZRY N4 (Sags, 430
) 9,300,00024 174 2 9,300
OBURIZZY W2 (FTDH, 2IH24)
4,770,000 14 2 4,770
Ol HES (BT B2)
4,433,000 14 2 4,433
OINB1PRY NP4 (ST )
3,850, 00021 2 3,850
OFI2RIP2Y H24(A4A0H D)
3,135,002 14 2 3,13
O8I Z2Y (3 WHl)
1,760,002 14 2 1,760
OJF2PRY HP+(OISEL )
1,147,000 14 2 1,147
OSASCHTONIER RS W24 (RT D)
2,840,00024 14 2 2,840
ONEAISOIMEZZY HE24(ZHH)
2,000,002 1742 2,000
OIB2RIFRY H22(SHH)
1,004,0002 14 2 1,004
ORFRIFRY H24(LEY D)
737,00021% 104 4 737
OFI| AW LHBAIL K24
470, 000244501 2 2,350
OJtA QFHY BHEAL HPa
220, 00021%50H 4 1,100
A2 FIIAA L el 23,309 48,499 225,190
201 LBty 14,509 3,59 218,090
o1 A2l 14,509 2,59 18,090
02 HIQHAA 248
105, 00021%517H 4 5,355
OFZY WSHRNAAAL 248
46,2002 #4900 2 2,264
02 FIAZHL 242
50, 00021521 JH 4 1,080
0FZLY YALS 242
20,0002 +732 A #43] 5,840
40 RI2HRH=0| 8,800 16,900 AT7,100
01 RIZEXHZ ALY 22 (RHRITHR!) 8,800 16,900 A7,100
o0Zzg A2SE 3,000,000 3,000
02F2IYRY 25 1,500
Oollof2! 1,500,002 14 1,500
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S 9BE
M FUSIH =8 € =Y
Tl QETIBIARICHI 22 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O3H=A 228 Sl &t
400,000 +5CH 2,000
02 S3=gHl 219,248 219,248 0
032 o=k 2= 31,000
Osd =tEd 50,0003 1004 =% 123 6,000
O3 A& 1,000,000 #5042~ +53 25,000
ORSFASH S+ FEINM SEEF 2
= 8403 *300=+3652 91,980
CEEENE-EIPE RN EEA=E
40,0003 * 122 480
038 &JIas= 50,200
Ost&ta 210,000& * 1094 A+ 12 25,200
O3 A& 1,000,000 x50 2= +53 25,000
O3S IIRk=s 3,000,000 12& 36,000
OsEsS RHEE)| StiLs
5,000& x23H 2= x 122 1,380
OB ST IYY M3
57,0003« 124 2+ 123 8,208
305 =S 5,000 5,000
01 =S 5,000 5,000
Ogx= o 2E FE=
500,000& x1024 5,000
SEANE=SH=X2c 1,252,561 3,778,092 A2,525,531
101 e124d| 280,970 274,066 6,904
M ORNZZ2NSE S 280,970 274,066 6,904
Oz a&e| JIZHZZ X 212t| 280,970
OelA| 78,8803 x11H 262« 11 248,157
OE &=yl 200, 0002 *11E 23] 4,400
OAUEEE JIARE= 28,413
-2ALLE= 252,556,480 +3.545% 8,954
-HIeLEE= 8,953, 1102 *12.81% 1,147
-=2H3 252,556,480 4. 5% 11,366
-IELEE 252,556,480 *1.75% 4,420
“CHHEE 252,556,480 * 1% 2,526
201 2= 90,795 11,151 79,644
2 S5=2g4l 90,795 11,151 79,644
ORJFUOIE 8) 1,509& 20203 640
OJIAHE ==cl 25,0002 %152 375
Ostdd RAl2ell
1,000,000 *107H 2 +90% 9,000
OOe0I=0IAIE tEEH B
70,0002 « 122 1700 & 14,280
ONE0I=0IAE 2l ARASE Y
1,500, 0002 *27H 2:+33] 9,000




2N QS
Hu: QHYSLN AH U 2
CH9l: QEDISHAIICH 22 (o) &)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
O=x=Z A& HARA 22 ES
2,300,000 x5 x5 2 57,500
206 M=l 70,000 70,000
01 MZHl 70,000 70,000
OUSFAL oMl 2 50,000, 0002 +13] 50.000
O=&=X A= 2=+ H=Yl
100,000 »2002! 20,000
401 AlZHIZL S0 810,796 3,422,875 A2,612,079
01 AlZHI 805,000 3,415,020 A\2,610,020
O3H=A ANE=E B2+
1,500,000 *607H 2= 90,000
OsHsS RAE= 80,000,000 80,000
02 SYXY BAS AL
2,500,000& x 122 30,000
OB =Kl LISFAE SAt
25,000,000& 25,000
OZY=X dalis LM At
30,000,000 30,000
O2FZe3H ME2I|H KX 2| AL
20,000,000 20,000
Oclsd e MESA
180,000,000 »10H 2 180,000
oAclsd s+U £XISA
30,000,000 *1IH £ 30,000
ORE=XI(2el637-28X) =2 ZHIZ A
60,000,000 60,000
OSlEREMZ3 2elArd
20,000,000& 20,000
O2F=X EARA L SAHL=500m)
20,000,000 20,000
OFelZ &= 42 FHI3 AHL=200m)
40,000,000 40,000
OYHIRT HTA AETM
180,000,000 * 190 2 180,000
03 AIZSTHYI 5,7% 7,855 A2,059
O3 A= & =Xzl Futl
805,000,000&+0.72% 5,7%
M= ECIZI AL 491,560 486,374 5,186
401 A2 HIRL 201 491,560 486,374 5,186
01 Al&H| 488,046 483,44 4,552
OM1MASHT BR=X 22l(2e32 33
) 99,676
OelE = 1,6202%3,891m % 13] 6,304
OIIAHNM = 4703 %175,811m x13] 82,632
Oo&=dE 2,760&+3,891m x13] 10,740
OMIMASHT] BR=K 2el(2E=X 513
) 174,206




2A: QS
M QHUSICH| TH U 2
CH9l: QEDISHAIIEH] 22 (o) &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OelgE = 1,620@%4,444m*x13] 7,200
(@ ==FSPS 2,760 *4,444m 13 12,266
OJIAN = 4703 +329,234m" *13| 154,740
OHMI2AHEH K| SR=X 22|(2eSS) 28,881
OelgE = 1,620%*2,943m" x 13 4,768
(@ ==FSFS 2,760 *2,943m *13] 8,123
OIIAH M= 4702 x34,021m 13 15,990
OM26HAE X SR=X 2| (2E5=X) 35,034
OelgE = 1,620&1%2,442m" %13 3,957
(@F= ==FSFS 2, 7603 *2,442m" x13] 6,740
OJNAIM= 4702 %51,779m 13 24,337
OQENACHI SR=X 2Ae|(2e3& o
glolsd, A38) 37,683
OelgE = 1,6202 %4, 144m* %13 6,714
OJ1AM= 4703 *41,555m x 13 19,531
(@F ==FSFS 2,760 *4,144m 13 11,438
OAACHR] A=K 2el(TAI=, MHSE,
=X, 92) 45,036
OelgE = 1,6202*3,900m* %13 6,318
OJ1AM= 470359, 475m x 13| 27,954
(@F ==FSFS 2,760 3,900m 13 10,764
OAACHX] SR =X 2e|(M=XI) 55,530
OelE = 1,6202%11,180m" 13| 18,112
OJ1AM = 4703%13,958m x 13 6,561
(@R ==FSPS 2,760 %11,180m * 13| 30,857
o2esd dMMs S 12,000
O&=HA 2003 +30,000m" x13] 6,000
OZCIAlLI 200&+30,000m x 13 6,000
03 AIE = CHHI 3,514 2,880 634
OAIZ =0l 488,000,000& +0.72% 3,514
N2 5,170 5,170 0
201 2| 5,170 5,170
02 33244l 5,170 5,170
OMEsAN HEXNY =522 & MA(st
2) 5,170
OMAZ2 120,000 *1CH 120
OXtgte ] 4,300,000 *1CH 4,300
(@)=k=: 1= 750,000 *1CH 750
CZAEEF X2 20,000 20,000 0
401 A& B 20HY| 20,000 20,000
01 AlEHI 20,000 20,000
OHEZ ATHSAt 10,000,000 *2km 20,000
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FUXAME 29 64,080 63,580 500
201 22 g 54,000 53,500 500
01 At 2 51,500 51,500 0
O=F2IXX 3Hl)
1,500,000& 1,500
o=
2 x 100 1w & 18AI2H+ 102 45,000
OctolthAw
500,000& * 102 5,000
03 A=Y 2,500 2,000 500
o=a 2 HAlZ =4
2,500,000& 2,500
301 LEtE 10,080 10,080
11 ALE 10,080 10,080
(ORIl
30,0002 x28H 122 10,080
Y2 AHI(LHEN 697,655 685,148 12,507
A2l 635,281 616,198 19,083
el 2a| 635,281 616,198 19,083
101 1A 635,281 616,198 19,083
01 &2 635,281 616,198 19,083
oJlza 447,710
oJlzs 85,054
52 85,004,000& 1 85,054
OJl=e(ss 362,656
6= 4,235,800 x3H 123 152,489
-1= 3,216,400 «3H 122 115,791
-82 2,110,800 «2F 128 50,660
= 1,821,500& x2E «12& 43,716
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O&EZ+=EiHt= 3,720
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OIHEH=E 6,840
OE=g 6,840
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LU PE 30,000 x4 * 122 1,440
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-JIEDHE 20,0008 =2 * 122 480
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OllsgEsd 50,0002 1+ 123 600
onlage=4 50,000 2 =128 1,200
Oos28+¢ 70,0002 +10F 122 8,400
OAtal=XIg R+
70,0003 x5 * 128 4,200
OAZI SRR k=
30,000 x3&* 122 1,080
(CESNFm e =
11,3192 x102+30AI 2+ 123 40,749
OFEAHZAI 140,000& x11H+ 122 18,480
OgZE SOl 362,656,000 *1/12+60%+22] 36,266
O IIE 4| 1,274
O sH
85,054,000 *1/12%78%+*86%*1/30% 11! 1,744
Os=H
362,656, 0003 *1/12x86%+1/30% 11! 9,530
(OFESF=1ENL 24,540
O53 250,000 «1H* 128 3,000
Ob= 185,000 x3& * 12 6,660
Ors 180,000& 32+ 123 6,480
O8=-9= 175,000& x4« 123 8,400
=ZH| 62,374 68,950 AB,576
Jl=2&Hl 62,374 68,950 AB,576
201 L2 42,614 40,110 2,504
01 AtR2telbl 15,842 17,448 1,606
OJl=gR==8ZH|(11g ,28)
8,450,000 8,450
CEELIGIES=1:))
8,000&x11H+72+128 7,392
02 S22l 26,772 22,662 4,110
oORER=S 4,370
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Ooggt 4002 +2,800S 1,120
OSYI 2,500 *1,300S 3,250
oNIIR=3 1,650,000« 128 19,800
Odot=ER= 170,000« 12& 2,040
OFSk=ii=is) 6,000 10412 72
OAoIEV=tlE 20,0002 «1CH =12 240
Ous=e2g=s 250,000 12 250
202 04| 7,920 13,200 A5,280
01 2LHA b 7,920 13,200 25,280
©0ibI(D1EZ4]) 60,0002 x11E* 122 7,920
203 gF=4| 10,040 10,040
01 J|22gdR=aH] 6,600 6,600
OJ|EH(l73et0let) 6,600,000 6,600
02 SRt =AY 440 440 0
OJZH (Z&100H M) 40,0008 11 440
MU A2 LIFLI 3,000 3,000 0
OJIEA(Fa15210l5t) 250,000 * 128 3,000
204 MR AH| 1,800 1,800
01 MG HI=HAHH| 1,800 1,800
OJIEAU (5280 12E)
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A LHE2S

HzH: Z=0| {0 & SEA
[ I — (=)

=aak OTP%ETD% D}E%_O’E/é EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O&d=J| itz 45,0002 *3CH* 122 1,620
(©]a][ERE=1= bS] 15,0002 *6LH*4=] 360
O3 34 220,000 *23] 440
OF3stx A 400,000 <22 800
OFAMN A= 100,000& * 122 1,200
OAYOIH X DEY
200,000& %12 200
OsZIletd 2 At WS
22,0002 %12 2
OAYOIHE Has2E
200,000 122 2,400
OBYIINTBY 448
150,0002 %12 150
OXI|IHHEE UHdl+2
180,000 «12& 2,160
2 S52g4l 7,949 8,608 AB59
OAl&EtHIs Xl 1,500,000 1,500
OA=EESRX2=+=2(15H0l0t)
3,230 +1,238m’ 3,999
o8Il RAExZE 200,000 * 122 2,400
Ogt=AYHEE 3] 50,0002 %12 50
FUXNXIHE 2 53,900 53,200 700
201 el 44,500 44,000 500
01 At2telt] 42,000 42,000 0
OFLXAIHEH2S(OIEZH])
1,500,000& 1,500
O=QNXEZZ Y LAl=+H
25,0002 *9JH W A« 18AI 2t+ 10 40,500
03 A2 I 2,500 2,000 500
O=FLUXNXIZ2H 2H3| X HMAIZ =H]
2,500,000& 2,500
301 EtE NS 9,000 9,000
11 dALEEIXIZE S 9,000 9,000
OFUAXIAA &8I24
30,0002 +25F « 122 9,000
405 AtatE = 400 200 200
01 IR ESFSHI 400 200 200
(OFS] 200,000 x2H 400
Y2 AU (LH=2S) 698,872 690,614 8,258
el 2| 633,760 620,998 12,762
el 2dd| 633,760 620,998 12,762
101 @124H| 633,760 620,998 12,762
01 &2 633,760 620,998 12,762
oJlz=s 436,090
OJl==(HSH) 85,054
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LiZ2s

M HY2AAH|(LHE2S)
s lIEE2ghl EEREE
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 85,054,000& 1 85,054
OoJlz=(sSH) 351,036
= 4,235,800 x3F + 122 152,489
= 3,216,400 x 1B+ 122 38,597
8= 2,110,800& x2H x 122 50,660
= 1,821,500& x5 = 12& 109,290
(COFS{GES= 33,573
OoFz2sY 351,036,000 *1/12x50%*23] 29,253
OFZ+=Sortza 4,320
-204E0]&F 25E0( ¢t
110,000 x1H» 123 1,320
-155014F 20201 8¢
80,000 x 1+ 12& 960
-10=014F 15=0(2¢
60,0003 x2H 123 1,440
-5E0l& 1040] 50,0003 * 1+ 12& 600
OIIHENSY 7,440
OJEsY 7,440
BN 40,0003 x5F =128 2,400
S DNIE 30,0003 x2H 123 720
-= M 70,0002 =3+ 12& 2,520
oy PNIE 110,000 x1H* 123 1,320
-J|EH=E 20,0003 =2« 12& 480
OE+2RE 19,080
ORI 50,0003 x5 12& 3,000
O=28=+Y 70,0002 119+ 122 9,240
OAgI =X R4
70,0003 «6F =128 5,040
OAISISXE R Jtet=a
30,0003 x5 123 1,800
ox=2RY
11,3192+ 11Z*30Al 2H+ 122 44,824
OZAHZ Al 140,000& x12H + 123 20,160
OZEFOHI 351,036,000 *1/12+60%*23] 35,104
OHIHE &M 10,969
O ESH
85,054,000 *1/12+78%+80%+*1/30% 11 1,744
(@X=2=)\]
351,036, 000 1/ 12%86%+1/30% 11 9,225
O&ASEXH| 26,520
Ob= 250,0003 x 1+ 122 3,000
OL= 185,000 x3H » 123 6,660
ors 180,000 x1H 123 2,160
0O8=2-9= 175,000&*7F+ 122 14,700
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M #ZYRAZHI(LHH2S)
=l Jl=3H| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Jl=3H| 65,112 69,616 A4,504
Jl=23H] 65,112 69,616 A4,504
201 er23| 43,992 42,076 1,916
01 At2teltl 16,964 17,448 A484
QJ1=dP+aAHI(12¢,28)
8,900, 0002 8,900
O=2HI(0I=ZHl)
8,000« 12 +72x 122 8,064
2 S5=2g4l 27,028 24,628 2,400
oRERs 5,850
Ooget 4003 +4,000S 1,600
OsI 2,500 %1,700& 4,250
(OFSPIETE= 1,400,000~ 128 16,800
Odot=ER= 300,000 * 122 3,600
(OFSk=Ii=a=) 7,000 ~1CH~ 122 84
OAHOISTVElZ 37,0002 «1CH* 122 444
OusS=&2g=s 250,000 12 250
202 04| 8,640 13,200 4,560
01 =LHOLI 8,640 13,200 A4,560
O (D1EZ4I) 60,0002 x 12« 122 8,640
203 HR=&H] 10,080 10,040 40
01 J|2=2gedR=a] 6,600 6,600 0
OJ|EH(l73et0let) 6,600,000 6,600
02 3t R F&| 480 440 40
OJZ=H(H2100H M) 40,0002 12 480
M FAZHHIFII 3,000 3,000 0
QI =N (H&1521015t) 250,000 * 128 3,000
204 MPo-HAH| 1,800 1,800
01 MG HI=HAHH| 1,800 1,800
OQIIEH (ST 2E)
150,000 x1&* 122 1,800
405 AtatE = 600 2,500 21,900
01 ML ESFSHI 600 2,500 1,900
ox% 300,000 <2CH 600
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3 Qg0 ¥ gy
tel: OS2 OSx4d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAgotd e Xt =]
200,000 %13 200
OsBIItHEH Ude=+2
130,000& %12 130
CEEISI IR EPOnER
22,0002 %12 2
A (%2R
250,000 x 122 3,000
OXIIHHEE UHdh+=
150,000 « 128 1,800
2 S22l 7,571 8,071 A500
OA&EHIs X 1,500,000 1,500
OA=ZERX2+2(10H0l0t)
2,4813&+1,963m’ 4,871
o5l RAExFZE 100,000& * 122 1,200
TR 2E 68,380 67,880 500
201 fet=3| 58,300 57,800 500
01 At 22|l 55,800 55,800 0
O=2XXIHEH 2L (OIEZHI)
1,800,000 1,800
O=QNXEZZ2I8 LA+
25,0003 *12JH AL+ 18AI 2+ 102 54,000
03 A2 I 2,500 2,000 500
OFQNAZZ 08 2HI X HAlel &8I
2,500,000& 2,500
301 22N = 10,080 10,080
11 AALEIXIES 10,080 10,080
ORI &2
30,000 »28H « 128 10,080
HH2LLH(ESAES) 1,219,025 1,223,241 A4,216
el 2E| 1,112,151 1,113,845 A1,694
el E2d| 1,112,151 1,113,845 A1,694
101 ©1AH| 1,112,151 1,113,845 A1,694
01 2= 1,112,151 1,113,845 1,694
oJlzs 747,745
O3 (HSH) 85,04
5= 85,054,000& *1H 85,054
OJl==(zSH) 662,691
62 4,235,800 «4F 128 203,319
-2 3,216,400 «4E 12 154,388
8= 2,110,800 6H 122 161,978
= 1,821,500 x7&* 122 153,006
(OF= GRS 63,265
o832+ 662,691,0008 *1/12x50%22] 55,225
Od2=gitit= 8,040
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M. HYSAGH(SHAIES)
SERRIEESS(T (Shol: &2)
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-1530(4F 20 0(8*
80,000 x4+ 12& 3,840
5014 10 0|8t 50,0003 *7H 123 4,200
ONAHBELY 9,720
OJEsY 9,720
i BN 40,0002+« 12& 3,840
o PE 30,0003 x4+ 12& 1,440
=M A 70,0003 «3F 123 2,520
B PIES 20,0002 x8F = 12& 1,920
OS2 2=Y 35,640
OolagR=g 50,000 =108+ 12& 6,000
O=28= 70,0002 218+ 12& 17,640
OM2=XNLRY
70,0003 108+ 12& 8,400
OAIZISXIL R Jtet=z
30,0002+ 10 * 122 3,600
CEn RN
11,3192 x21F*30Al 2H+ 123 85,572
L] 140,0001%2224 » 128 3,960
OYE It 662,691,000& *1/12+x60%+23] 66,270
O &I 19,159
O SH
85,054,000 * 1/12%78%+80%+1/30% 11 1,744
Oz &M
662,691,000 *1/12x80%+*1/30% 11 17,415
MNIEEH| 47,820
O52 250,0002 x1H ~ 128 3,000
O6= 185,000 x4H 122 8,880
ors 180,000 4G+ 12& 8,640
O8=-9= 175,000& 138+ 12& 27,300
f=pls]l 106,874 109,3% N2,522
J|1E23&| 106,874 109,3% N2,522
201 LB-2AY| 76,254 68,216 8,038
01 AtR2telt] 29,184 32,3%6 A3,212
OJ|l=gRaAPy| (22 ,38)
14,400,000 14,400
ozgt(01E2Yl)
8,000& x22F 7L+ 12F 14,784
02 B22gH| 47,070 35,820 11,250
oRERI 16,900
ot 400&+11,0008 4,400
(@I=p] 2,500& 5,000 12,500
oIS 2,200,000& *12& 26,400
odR2 7,0002 x2CH+ 123 168
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B BYPAAH(SYAES)
29l Jl=3l (crel ®2l)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OAdt=ER2 250,000 =128 3,000
OuERLRES 350,000 *13] 350
OAHOIETVAIZ 21,0003 «1CH* 123 252
202 0441 15,840 26,400 210,560
01 =2LHO4 ] 15,840 26,400 210,560
O0bI(OI=Zhl) 60,0003 *22F *12& 15,840
203 RF=&Y| 12,980 12,980
01 J| 222G RFA| 7,900 7,900
©J|Z=H(2125010]2) 7,900,000& 7,900
02 FRIAHE 2| 880 830 0
OIIEH(HA100HIXI) 40,0003 x22H 880
M EN2LHRFA| 4,200 4,200 0
OIIEH(HRA25LI018t) 350,000& =123 4,200
204 AP AH| 1,800 1,800
01 MM Z RSB 1,800 1,800
OIIEAH(BSII2E)
150,000& 1H x 122 1,800
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Ma: Z0laol I Bl
tel: OS2 OSx4d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAUHE %2R
500,000& 12 500
OAHAZZ M 2AR|Q WK
45,000 45
02 s3=gHl 5,321 5,821 A500
OA&EHIs X 1,500,000 1,500
OA=ZERX2+2(30H0l0t)
5,020 +761m 3,821
FUXAME 2 44,500 48,500 24,000
201 eer23y| 35,500 39,500 24,000
01 At 22|l 33,000 37,500 A4,500
OFRXXIHEHZE (I1EZH])
1,500,000 1,500
OFQITAZZ I LAl=E
25,0003 *7IH W &= 18AI2Ex 102 31,500
03 A2 Y] 2,500 2,000 500
OFQNAZZ2 08 2H3| X HAlZ &4l
2,500,000& 2,500
301 EetE2 N = 9,000 9,000
11 #AIAHIXIE = 9,000 9,000
O=2UXXI?EE AH2d
30,0002 x25H 122 9,000
2ES SAHEHE 292 14,627 16,403 A1,776
201 el 14,627 16,403 A1,776
01 At2t2ltl 5,540 6,080 540
O=SAAHEHE RAMTEH ES=
130,000& * 12 1,560
OSXNEHE ALOHEY (442
150,000& 122 1,800
O=STHEHE I X2
30,0002~ 12& 360
OSAHEHE )88 Hde=
110,000& * 122 1,320
OAOIHBRIN DEAHE
200,000 200
OFMN A= 150,000 22 300
2 S5=24g4l 9,087 10,323 N1,236
OSXHEHE M=
630,000& 122 7,560
OSXHEHE &ot+=R=s
17,0003+ 122 204
OA=SRXE+=2(5H015})
1,3202x995m’ 1,323
BH2IIH(22FS) 877,325 881,936 4,611
elIE =g 811,675 812,906 A1,231
olE =gl 811,675 812,906 1,231
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M HRSHAY|(QDEE)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 811,675 812,906 1,231
01 &= 811,675 812,906 1,231
oJlZz=s 564,318
OJl==(HESH) 85,054
52 85,004,000& 1 85,054
OJ1z2(zSH) 469,264
6= 4,235,800 ~4H 122 203,319
= 3,216,400 2H 123 77,194
-82 2,110,800 x4H 122 101,319
92 1,821,500 x4E 12 87,432
(OGRS, 47,626
og2=+¢ 469,264,000 *1/12x50%+23] 39,106
Od2=gitita 8,520
25801 & 130,000& x 12+ 123 1,560
-204014f 26=0]8t
10,0003 x 1= 123 1,320
-164014f 20=20]2t
80,0008 x2& » 12 1,920
-10=0la 1508
60,0002 x1& » 122 720
-5E0[& 10208t 50,000 x5& * 122 3,000
OIH28 =g 10,080
OJE=g 10,080
- <Xt 40,0002 x8&* 12 3,840
L PE 30,0003 x5 * 122 1,800
a=LUPE 70,000 x3&* 122 2,520
-JIERHE 20,0002+~ 12 1,920
O ] 23,400
oulages¢ 50,0002 x5 * 12 3,000
Os22+E 70,0002 x14E 128 11,760
OAtzl=Xg ¢
70,0002 +6E * 12 5,040
OAtISAIg S Jtits
30,0002 x6& * 122 2,160
OJled=2=8 30,0002 x2& =122 720
OJI=2EE+E I3 0ISE - JIAY
30,000 =2 * 122 720
(OESN) se i s
11,3193 x 14 *30A[ 2+ 123 57,048
OFMUSAHI 140,000 x15F « 128 25,200
OEZE=FIH| 469,264,000 x 1/ 12+60%+22] 46,927
OS2 &l 14,076
O SHl
85,054,000 *1/12x781+86%+1/30+ 112 1,744




2N QORE
M HRSHAY|(QDEE)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oz =Hl
469,264, 0002 1/12+86%+1/30x 11 12,332
OXZ2xHI 33,000
Os52 250,000 x1& 128 3,000
O6= 185,000& x4~ 123 8,880
Oors 180,000 x2&«12& 4,320
O8=-9= 175,000 x8& * 122 16,800
=38l 65,650 69,030 A3,380
JI=23Hl 65,650 69,030 A3,380
201 fer= 3| 37,350 39,030 1,680
01 At 2|l 20,330 22,520 22,190
OJl2gR+=8ZH|(159 ,28)
10,250,000 10,250
03I(01EZ)
8,000&x 157123 10,080
02 S3=4gl 17,020 16,510 510
oRER3 7,000
oget 4002 +5,0005 2,000
oSl 2,500&+2,0005 5,000
oNIIR3 780,000& 122 9,360
Odotr=e=s 40,0002 128 480
OAoI=ETVtlE 15,0003+ 104~ 123 180
202 04| 10,800 18,000 AT7,200
01 =LHOLI 10,800 18,000 AT7,200
O0HI(O1=&Hl) 60,0002 x 15 122 10,800
203 HR=&H] 10,200 10,200
01 J|2=2gedR=a] 6,600 6,600
OJ|EH(l73et0let) 6,600,000 6,600
02 3t RS &| 600 600 0
OJ =N (H2100H M) 40,0002 15& 600
04 PAE2EERFAH 3,000 3,000 0
QI =M (H&1521015t) 250,000 * 128 3,000
204 MPo-HAH| 1,800 1,800
01 MG HI=HAHH| 1,800 1,800
OJIIEH(GSI12E)
150,000 x1&* 122 1,800
405 AHatE = 5,500 5,500
01 I =S F = 5,500 5,500
OHX= AP 5,500,000 *1CH 5,500




